
                  

 

Nº 1    M4 X 35     3UDS 

Nº2     M4 X 16     2UDS 

Nº3     M4 X 40 o M4 X 45  1UDS  CBR1000  2017-2019 

A         M6 X 12 

  

REF. HRF02 

HONDA 5 (TORNILLOS, SCREWS, VISSES, SCHRAUBEN) 

  

 

2 

2 

1 

A 

A A 

  3 


